[ B 8 =® ]

w%1HHE 6HA25H(H)
RERAvIES 7:30 REEZLE 8:00 (U-121F118F) ARERAET

B fE F—L% xFE F—L% ITE|EE | BIE
1 8:45 |U-10 DFUT<KH 0 X 4 |U-10 @team infini wmE| = B
2 9:25 |U-10 @FFz!)—X 3 x 2 |U-10 @EmMEFyH—X &K | infini
3| 1005 |U-10 @FKEFvH—R 5 X 0 [U-10 @team infini Jy | =
4 | 1045 |U-10 DF)T4KH 1 X 5 [uU-10@=Fz)—X RO AKX
5 11:25 |U-10 @EMEFYH—X] 0 x 5 |U-10 ®FKEFYH—X 71 | infini
6 | 1230 |U-12DF)T4KH 10 x 0 [u-12 @FCViso infini | 3
7 | 13220 |U-12 Bteam infini 0 X 9 |U-12@=Fx)—X B | Viso
8 1410 |U-12 ®FEMEFvH—X] 14 x 0 |U-12 @FGCViso 1) | infini
9 15:00 (U-12 DFY)FT1KH 8 X 0 [U-12 ®team infini E3 H
10| 1550 |U-12 @=Fz!)—X 3 X 0 |U-12 ®@EmMEFyH—X 1) | Viso
U-10 15-5-15
U-12 20-5-20

FEDOAHHR. BIBEF—LFER

U-10 @OFJT4KEH @Qteaminfini Q@FEFz—X @EMEFYH—IALF GBFKEFYH—X
U-12 OFYF4KHE @FCViso @teaminfini @=EFz!)—X OEMFEXFYH—ILF




[ B &

& ]

*2HHB 7H2H(H)
KERAVIESE 7:30

S F—L% Xt B F—L% ITE|EE | BIE

1 8:45 |U-10 @team infini 4 X 0 |U-10@DEMEFvH—X| B | F | FK
2 9:25 |U-10 @FFz!)—X 0 x 6 |U-10 ®FKEFyH—X PUREE:
3 10:05 |U-10 D7) T7+4XKH 0 X 1 |U-10 @EMEFYH—X infini | 3
4 | 10:45 |U-10 @team infini 3 X 0 [uU-10@=Fx)—X FEK | T
5| 11:25 |U-10 @FKk&EFvH—R] 12 x 0 [u-10 DFUF4KH infini | 3
6 12:05 |U-12 @FCViso 0 x 18 |U-12 @=FFz)—X infini | 3
7 12:55 |U-12 @team infini 0 X 3 |U-12 ®EmMEFYH—X ) =
8 | 1345 |U-12DFUF«+KH 1 x 5 |U-12 @=Fz)—X Viso | infini
9 | 1435 |U-12 @QFCViso 0 X 2 |U-12 Bteam infini B | U
10| 1525 |U-12 ®EMEFvH—R] 1 X 1 (U112 @DF)F74XKHA Viso |
11| 16:20 Ff =

U-10 15-5-15

U-12 20-5-20

FTEDAHHE. BIEEF—LFHER

U-10 @QFYUT4KHE Oteaminfini QFEFr)—X @EMEFYH—IXLF OFKEFYH—X

U-12 @JYT4KHE @FCViso @teaminfini @FFz)—X OGOEMFEFvH—ILF

¥ U-10[ERER TR VS5URNMITRERZEITS




